{  Which of the following physiographic regions of | 4 The compound'interest on % 4 ,000 at 10% per
Rajasthan share’s’its boundary with. Madhya

_ annum for 1-12- years, interest compounded half
Pradesh?

| yearly is:’
g;z:: gt::e I:n::;ﬁ:pproprmrc answer from lhe . 24,0007 1‘2 T R 10% E!Tﬁ'EI-TE'{ fomfis
(A) Western desert plains region . H@f&lﬂﬁﬁ Wmm e
(B) Semi-arid region (A) - X 630.50 (B) T 600
(C) Aravali region ' . (Or%62050 (D) 625
(D) South-eastern plateau region (E) Question not attempted / 3TFaItd 94
(E) Question not attempted : AR
N i O ik ‘q’%‘-\’-ﬂ%\ﬁﬁﬁ & V’ The difference betweé:; the compound interest
ﬁﬂﬁgﬂﬂﬁﬁﬁﬁﬂmwm%ﬁ . and ‘lh? simple- interest fm ? certain su:? for 2
(A) ubnfi v ferfr e | | years at 10% per annum is ¥ 700. Find the
(B) Glﬁ—iﬁ a8 * compound intercst‘on the same sum at the same
(C) IaEal & | | rate for 1 ]2 years when interest is compounded
Oy  <Rorgdi ver & g half yearly.
ST XA & . FoURTR 2 3t T 10% it A TEIRE A
2 Tropic of CanéEi-""séE‘éés through which of the | mmummﬁ 3= T 700 B IHT TET 9T I4HT
following regions of Rajasthan? B 1-—- Y T RAfE A T Eh:% 5T A
Choose the most approprl'ate answer frnm the Mﬁﬂﬁﬂimﬂﬁmﬁl
options given below: R A) T11,03375 (B) 212,337.50
(A) Siroki ™" (B) Bhitvar - © 1221125 (D) T 11,885.40
(C) Jhalawar “(D) Banswara _
(E) Question not attemptcd (E) Question not attempted / 313“1:{':? o
<% T TereaT o frefofaa 3 @ B é’rﬂ?t Bl
TSt w7 | | 6  Atwhatrate of compound interest per annum will
i A & wﬁ?ﬁﬁ“ﬂﬁmﬁ a sum of T 5,000 become  5,724.50 after 2 years?
(A) o - (B) e . erafg s R s W 5,000 TR 2
(C) AR ABY ST a8 ET % 5,724.50 B ST
(E) 3TFaia A (A) 6% B) 6.5%
3 Which of the following regions of Rajgsthan €) 7.5% ;GB) 7%
shares its boundary with Gujarat state? (E) Question not attempted / IO W

Choose the most appropriate answer from the

options given below:

arh (B) Pali 7 What number should be subtracted from each of
(A) Chjlto:ﬁ (D) Nagaur 15, 28, 20 and 38 so that the resulting numbers
o Uﬂz;l:wn not attempted are in proportion?
| g%ﬁ%aﬁmmaﬂﬂﬂ-mmmmm% HEATSHY 15, 28, 20 7T 38 H Wl i & w-Hf AT
o v AT I &7 ger§ ST R T weand w3 8
o 3 & o JIge IO 3
Frefafaa fasedl A (A) B) 6
) fadeg (B) e ©) 4 @ 2
(C) =t (D) (E) Question not attempted / 31w WA
() “Tm“w 2 | Contd-f-
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The Nagoya Protocol in,access.and benefit

sharing was adopted under Fl?l aegis of:

Choose the most approprigfe answer from (he

options givenbelow: oy '

(A) The Zoological SurveyBf India

(B) The convention on B'iﬁrn'gi‘cal'biversily
| (C) Preinvestment Surveyf. Fotest Resources

(D) National Centre lEf‘E'r'_u_ Biotcchnolugy

Information o it &

(E) Question not attemptec'Il -

JqEUAr T W ETRerd Wietehret
& 3 i 'iﬂg e .
(A) vt EdETr o
B) < fafauardfr

9 First ‘National Space Day’ (vas observed on 23

August 2024 because: -

Choose the most apprapng;z answer from the
options given below: ;

~ (A)  India became the fourth; country to land on

the moon and the ﬁrst;@reach the Southem-

. Polar Region on 23"¢Angust 2023
(B) _23“1 August is the birthday of Father of

Indian Space Prograrfime .
(C) 23" August is the daps of foundation of
ISRO 0 -
(D) Indian MARS MissiQ(E was launched on
. 23 August -
(E) Question not attempted?
WUH U Sfafer Raw 233y 2024 @ W
AT T |
fFrefafay ety ST
L&) v fam wrafz a T <y afr &
3T 23 mzozﬁﬁmﬁmgﬂéﬂﬁ“’éﬁ
CIGIR G| N
(B) 23 maﬁqmﬁqzléﬂa' FreRe o faal I
ST

<t -
(C) 23 maﬁmﬁm
(D) m%mwﬁmnmzs Eﬁrﬁlﬂ»’fw

§3=IT
_B14
DEF - B14] 3-15‘:2.6 1| 20238

AR B N N

10

11

12

- (C) Luni

The state animals of Rajasthan are-

Choose the most appropriate answer from the
options given below:; (=) | | e 5
(A) Tigerand Cow "’3 | / / \lb

B) Tigerand C [ 4

(B) g ame N \b JovoL

(C) Chinkara and Camel

A
(D) Camel and Blacl;.-ﬁanther s 720 / %ﬁo

(E) Question not attemfipted 3>V Az Tm

TSI F T a8 () /5£ s

ﬁq%ﬁgaﬁmiﬁﬁmﬁba#ammgﬁ:

(A) rarsfrmy ;

®) Hmainse 2 00 IO W ¥

er mwﬁu’r%wr(ﬁa%sﬂtiz -3

(E) 3qui@mys (o N
- 57

Which of the following'tivers is associated with
“the Bay of Bengal dmi:‘;z?ge system?.

Choose the most, appropriate answer from the

options given below: . ) |

(A) Jakham Chambal = 17 {i}‘z—r\i"-
(C) Mahi ) Sabarmati e -
(E) -Question not attempted to

Frfefaa § F-dt 7w @prer Frardt sEre dr R
- Heiftra &2 <

e fasedt § & faifis svgmamas: 1750
(A) Sm@Eaw  4B) wEw AN B
(C) =t Gt

(E) Jgaf@sd  an

| . N

Which one of the follo\ihg rivers does not flow

in Rajasthan? "

Choose the most ﬂpp{fﬁ"ﬂfe answer from the

Options given below:

(A) Subamarekha (B) Mabhi
@ Banas

(E)  Question not attgnipted

Tt % & - T TS F T et 2
Fivifaf freredt 7 @ RS 39775 3o 3
UAY ool vt/ oo

(B) & -

© <+

(D) s

(E) ~ Syqafa v |

C
228 ) 17 .35 —_—
4 2 Y 1Yy 3L
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which of the following National Highways pass
l_‘nl

(hrough Rajasthan?

choose the most appropriate answer from the

options given below: ¢
(A) National Highway no - 208
(B) National Highway no - 4
(C) National Highway no - 10
(D) National Highwayno - 1]
(E)  Question not attempted
Fefefen 3 & R T T o &
| ﬁﬂ%@aﬁﬂﬁﬁﬁﬂaﬁﬁmmwiﬁ:
(A) T Tsmnt e - 208
UB) U<im oot w4
©) T@UWE@T -10
D)  TEE Tt T 11°

Choose the most appropriate answer from the
options given below:

(A) Lalit Kumar‘Upadhyay

(B) Maheshwari Chauhan

(C) Neeraj Chopra '

(D) Aishwarya Pratap Singh Tomar

(E) Question not attempted

98 ToredrHT faarst e Sfw ofeifrs gt §

YR <kl Ifaffires farar: |

Preffia forredt 3 & warfforas sage s
HA) <fcTd FUR UTAT™

15

Chaudhary'o I‘J.huruhunu (Rajasthan) won me 17
at Macau, Chipa in June 20247 g
Choose lh;:!'lllﬁ,st appropriate dnswer from
options given below: .
(A) Gymnastics
(B) Sambo
(C) Chess
(D) Badminton
(E)  Question not attémpted
EECH mnrn)zﬁrﬁrﬁm%hﬂﬂﬁﬁnﬁfﬁméﬁi
8 form @t i ey T 33, 2024 F g2z
iR e ———
(A) Frenfes
(B)  &w=it (wmea)
©) s
o a‘gﬁa 18
(E) Iafawsy

Sh. Bbajan Lal Sharma, CM of Rajasitm |

represented  which constituency in thelét
Assembly?

| Choose the most appropriate answer from the

options given below:

(A) Sanganer _ :
(B) Shahpura

(C) Siwana

(D) Rajsamand

(E) '

Question not attempted

% T Rreren & ar iR fre 3

PRt et f & watfives g s g

(AT Wi

B) TR

(C) Toam

(D) TsEw=

(E) Tafe wa DE

[ Contd-
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X 1,800 Fr Ufr =t A, B T C i 39 YR &1 TR
% A FI CHFAMTH 2 qur B A A FAMH

Which party has won. Banswara Parliamentary
constituency (Rajasthan),in the 2024 ok S
Election? sii? v

Choose the most appropi'fafé IHIISWCI‘ from the
options given below: '

(A)
(B)
(C)

abha

Bahujan Samaj Party

Bhartiya Janta Party

Bharat Adivasi Party . .

(D) Indian National Congress

(E) Question not attempted | .

2024 & SrRET T F R 9 Y aigarer
(ST G988 9 Sid 9y 662

Frfefea fawedt & & waiffas sogw av:
(A) W& GHIS 9Tt =

(B) WRA 94T UTef

& YRa TTfeaTdt ard
(D) Ifsma e sy
(E) i@ ux

A sum of ¥ 1,800 is divided among A, B, C so

that A gets % of C’s share and B gets % of A’s

share. The share of C is:

3
4

TH BT 21 C T 9T R

(A) 600 (B) ¥ 1,000
(C) %900 ~D) T1,200
(E)  Question not attemipted / TN I

:he PTOCess In which the superior males of on€
reed are mated with the superior females of

Choos
e t?’e Most appropriate answer from &
Options given be] gy -

(A) lan'EEding
(C) Back Crossin
(E)  Questiop

PR R S —— S

(B) Out breeding
g (D) Cross breeding

20  How many parts are there in the stomach of a
camel?
Choose the most appropriate answer from the
options given below:
(A) Five
(B) One
(C) Two
(D) Three
(E)  Question not attempted
Teh 3¢ & AR T fohd ¥ 2 29
Fretfifian faamedt & & wratfires suzes sm 23
et A e B9
Th .
N
(D) = A = 3= ¢ -¥N ) 1N
(E) SruiayH _g~¢7 e 8
g = R - 3___\1#.
Wy 21,67 8
21  Bleeding from all natural orifices and distress
trembling is important clinical symptom of whic
of the following diseases?
Choose the most appropriate answer from the
options given below: 3,65:6' 33\
(A) Black Quarter /,?_g_f" »
(B) Hemorrhagic septicemia I?ffS o |
(C) Rabies - |
(D) Anthrax
(E)  Question not attempted
oft yrpfows O § A IR Sl Sy
Fefafaa & @ 60 U7 1 @ wReqt Sarfye
TTETOT R?
Prvrfefae et 8 & Fratfires sugw sy,

(A) e T '
LBy fewinefren Attt =il i =
©) W L
(D) e ; :‘ T - N

(E)  oygaf@wd i N
[ Contq,,, 53
A3 b
Z >R g SR N
Y ‘ s
— Y

Scanne d with CamScanner



17

18

19

" fFASR CEHFAMTH % ?rmBa?rA%:wmaarT

Which party has won. Banswara Parliamentary | 20
constituency (Rajasthan),in the 2024 ok Sabha
Election?

|||||

i ]

options given below:
(A) Bahujan Samaj Party" '

(B) Bhartiya Janta Party

(C) Bharat Adivasi Party . ..

(D) Indian National Congress

(E) Question not attempted ‘

2024 & wFENT g R 9 Y siwarer
((STEIT) G939 &7 1 Sfiq 7w i

Frefefas faered # & waffae sugw sooa
(A) &S 99 qret

(B) WRA SHaT et
ey uRa rfeard gt

D) ST Imma sy

(E) Igaia@wx

A sum of ?’21,800 is divided among A, B, C so
that A gets =5 of C’s share and B gets -3- of A’s
share. The share of C is:

Z 1,800 ST AT =T A, chi‘rwmaﬁrg&

21

YTH BIdT 81 C T 9T &:
(A) T 600 (B) 1,000

(C) T 900 ~D) 1,200
(E) Question not attempted / 3TTAING T4 -

The process in which the superior males of one
breed are mated with the superior females of
another breed is called:

Choose the most appropriate answer from the
options given below:

Out breeding

How many parts are there in the stomach of a
camel?
Choose the most appropriate answer from the

options given below:

(A) Five

(B) One

(C) Two

(D) Three

(E) Question not attempted

Teh $2 o AT F foha yrr a1 22

Frtafad fashedt & @ waifas sagew o :

) :1: ' SR = 5 H

% g™ \

(D) ?ﬂ:l‘ A e +¥) R

L . S 1

(E) qulrrﬁdsrg{_ﬁ A c'.' 1 "7’.,____.‘1——

. 21,6 8

Bleeding from all natural orifices and distress
trembling is important clinical symptom of whic
of the following diseases?

Choose the most appropriate answer from the

options given below: o y\
(A) Black Quarter /35“

(B) Hemorrhagic septicemia I7tf8 & l
(C) Rabies e
(D) Anthrax

(E)  Question not attempted

(A) Inbreeding  (B) T wrrfew O ¥ THEE iR dwEd ey
(C) Backcrossing (D) Cross breeding Prafifae & & fre O =57 -
(E) Question not attempted S . q%iﬁﬁﬁﬂi ﬁaﬁa;
e ufsrar forad T T & 48 T/ 1 gadt T&d
Sy TT & WHTTH AT ST 2, FEad 8 ﬁq%ﬁﬁﬁﬁﬁq}ﬁﬁwaﬂmmw;ﬁ
frefafad famedt § & gaffas g ST HH: (A) =% FRR
Sl Pere D) fiiefores aieffirn C1M o p
e L (©) aftw - R
©) v it " = &% 43
Heht TSI ) a
/fg)) A 94 ! (E) el wA 8 29 ?\
DEF-B14] % [C‘Ulltd“ ‘-’:QEE
= Z = A3 N
i i TS g3 SR Y
A1 & ®,
L - oo — . g
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22  Foot and mouth discase in cattle is caused due to

o

Choose the most appro{wre answer from lhe

infection by

options given below: 0\

(A) Fungi (BY) Bacteria
(C) Virus (D"‘ Protozoa
(E)  Question not attempled

;ﬂaﬁ%qmaﬂ-ﬁamﬁnmm L

FefoTed feeal § § gatfies sugw swa:
- (A) wEw (B2 Sframy (i)
Ue)y— fawm @) (D™ wee

4
23  Grooming of calves is dﬂﬂo

Choose the most approp‘r:f)ate answer from the

options given below:

(A) Keep them cle — -
p an O

(B) Get fibre 0O

(C) Avoid licking 0N

(D) Decrease blood cnr&ﬁatmn
(E)  Question not anemrgd

TS I IHT A A
, Fr=fafad ﬁ*cﬁﬁﬁﬁaﬁﬁmwaﬁ
(A) 3% T3 W@ & i
(B) rﬂ(ava)mwﬁ’%m
(C) mz:rﬁwa%%g
D) ﬁﬁqﬁawﬁmﬁ?ﬁ%%q
(E) aRayd i

o |

24  ‘Project Tiger’ was launcﬁ%‘d In:
Choose the most appropriate answer
options given below: t’ o’

(A) 1973 (Bn)) 1962

(C) 1968 (D)N 1970

(E)  Question not dllen{ﬁﬁfd

K= A LCIECIE (mmﬂmzﬁ’]ﬁaﬁ

ﬁ'ﬁrﬁ—rﬁﬂﬁldmﬂﬁﬂﬁwﬁawamm |
(A 1973H (B) 1962 % T

(C) 1968H (D) 19703

(E) Al 94

from the

- DEF - B14 | @

6

25  Which of the followi%is not a forest a4 Wil

resource? .. )
Choos¢ the .most. a&opriate answer fron
options given belowi (3
(A) Protected fore¥t
(B) Reserved foreg

(C) Unclassed forests
(D) Indigenous foréﬁts

(E)  Question not aftempted

Frafofaa & & #19-904 3R a=ria g
w o

ﬁw%%aﬁwﬁﬁmmmgﬁ
@ T 3

(B) IR I

FafiFdas O
/@Bf ﬁwmﬂﬁﬁﬁ)%
mﬂﬁﬁ‘m N
0

™ o

26  Animals whose nunthgrs are reducing to?

that they might face Qinction are known &
Choose the most appropriate answet fro
options given belowi

(A) Endemic spec‘%

(B) Endangered spgéles

(C) Extinct specm.s\j,

(D) Susceptible sp‘“\ies

(E)  Question not attempted @QF |
0@ i oot e st s v €1
%ﬁ?ﬁﬂ?wm?ﬂm% el ¢ ¢ }
Freaffon e § fratfas 9920
(A) THF St

_AB) ﬁmaﬁzﬂ
(C) o wfeat 1
(D) HdZEfe sfaat |
(E) orgafa wu [ Cﬂn“’) 1
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27 Which of the following staternenté 1S not correct | 29

about laterite soil in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) It 1s formed by- the " crystalline and
metamorphic rocks. '

(B) This soil is found in Dungarpur.

(C) Itlooks red due to the presence of iron.

(D) It contains enough quantity of phosphorus.

(E) Question not attempted

frafaRad 3 w-a1 Sy aeum i Seuze gar F
TR H S T 22

F=faias faeweat # @ waifas sogw sata:
(A) T FIEART Td WER I A F11 2

(B) I T TR H 9t STt Bl
P g 3y i A & FRoT I8 AT TR

AT 21
_(Dy 36 TIiW qET § ShRE I ST 8 30
(E) oEafays
28  Arrange the following 'diStl;iCtS of Rajasthan in
descending order according to their literacy rate
(Census 2011):
a. Churu b. Kota
c.  Alwar d.  Sirohi |
e ¥ Frafefad forelt r arear &% (201197
SHTIUET) & 92d 9 § SFaidd i o
a. 9% b. @Il -
C. HAAGT d. fauet
Choose the most appropriate answer from the
options given below:
1 faw 710 fareredl # & watfiras gagw IT T
/fﬁ b,c,a,d (B) d,b,c,a
(C) ab,cd (D) b,a,c,d
(E) Question not attempted / 370 94
7

DEF - B14 | 6

48 Z1,120

“Vijaya Stambh”, located in Rajasthan was
constructed by?
Choose the most appropriate answer from the

options given below:

(A) Bappa Rawal

(B) Mahmood Khilji

(C) Rajaraja Chola

(D) Rana Kumbha

(E) Question not attempted

TeredT ° feuq “fasg o &1 o frass gz
FETIT TAT?

Frfaftaa fawedt & & waffaes sugs 9=
(A) FHUITIA

(B) T e

(C) TSI =

(E) Aqaia9s

‘A shopkeeper sells an item for ¥ 900 and suffers

a loss of 10%. To earn 12% profit, for how much

- should he sell the item?

T THMSR fordt a5 &t X 900 T a=9ar & iR 39
10% St 21f Breft 81 12% wm s1fsfa et 3 fera 3y
T 1 P o A R
(A) T 1,100 (B)
D) T1,112
(E)  Question not attempted / JATANT ¥
Nikhil sold an item for X 1,425 and suffered a loss
of 5%. For how much should he have sold it to
¢arn 10% profit?
fFfaer ¥ wew o 5% w1 & T 2 1,425 T =t
10% T aifSia F & foIe 37w =g fray &
sterft enfir of?
(A) % 1,662 (B) T 1,638.75
(C) 1,642 —D) T 1,650
(E) " Question not attempted / 313‘6&7{ M

[ Contd

0O
q/fé:;kll‘w
T 1,098 ¢ N
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35  Which fort of Rajasthan was referreg ol
‘Second Gibraltar nfth(%/m[d’? | T

Choose the: most apprepfiate answer fro, &

32 Ashopkeepersold an item for ¥ 960 after allowing
20% discount on the marked'price. What will be

the selling price of the item if he gives only 12%

discount? ¥ options given below: % ot I
T TR Y T Jifohe e W 20% i FE 3 ~(A) Junagarh ki %
3 T 960 & Tl IR T8 Haw 12% 1 gE I A1 I (B) Nahargarh i i
aﬁmﬁmqﬁwé""?' | | (C) Mehrangarh - E
LA T1056 (B) T 968 (D) Taragarh (Ajmer) |
(C) T998 (D) 1042 (E) Question not attefmpted _
(E) Question not attempted / aiflaﬁﬁ'd B U & forg fora it ‘%Eﬂ@ﬁm;
33 In which folk theatre foqnlls_lts artist called | SR PossF i @ %Wﬁﬁ?
‘Behrupiya’ (Impersonator)? ' | ™
s (A) SdrTe <
Choose the most appropriate answer from the -
G —— % F (B) AEUe .
options given below:
- (C) W]
(A) Tamasha (B), ‘Swaang . (-
(C) Gavi (D) Ramavat APy TRITG () O
PR - (E) AaRauH o0
(E) Question not attemp}_ted O\
e Sk ATeT S | TR hl TEE AT FHaT SIrar , S © -
20 e ) - | 36 Which of the following Widtricts of Rajast”
ﬁm%ﬁa?rﬁrﬁq‘rﬁﬁaaﬂbavmw T+ | the highest sex ratio in @1 area according®®
® o ® > census of 20112
fA) wmr o (B) & i | -
(C) Tad (Dj:' e . C l00se the most app riate ans
(E) e RILG R :: options given below: Q0
p ) | (A) Jhalawar N
h W0
34 Where is the Keoladeo .:Ghana National Park (B) Galjlganagar b
located? T (C) Pali <
Choose the most appropiii'iate answer from the (D) Jaipur O
options given below: (E)  Question not attempted :
(A) Udaipur (ﬂr) Bharatpur 2011 Y SOAT ug-@tmw% 2l p
(C) Sawai Madhopur(l}?; Dholpur ﬁﬁ?ﬂﬁ'ﬁmm Qﬁ[ﬁﬂ@qﬂ H;ﬂli ﬂi
(E) Question not attemF}‘cd ﬁﬁ%@ﬂﬁmﬁﬁ@ffﬁﬁ
e (A)
foreferfa faeedi 4 @ wﬁamawgmm_@ (B) TMAT <
i1 O
(A) FEAL (B) VAR «€) et
C) wadagw (D) Wy (D) AR
(E) Auia (E) fufawy " it
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37 In which of the following areas of Rajasthan, | 40  Which famous temple was constructed by the

Salar forest i1s not found?

. th
Choose the most appropriate — legendary Bappa Rawal in the 8 century?

from the
options given below: Choose the most appropriate answer from the
(A)  Ajmer g (B) Udaipur options givcn b;elow:
(C) Jaisalmer @ (D) Pali (A) Rishabhadev temple
(E)  Question Ad{ attempted (B) Eklingji temple
ﬁwﬁa%aﬁwé‘%%%q & o | a7 72 qre (C)  Shrinathji temple
ST &2 S (D) Jagdish temple
RISISIicE wgmmmgﬁ (E) Question not attempted
(A) I o B T gff wrarsdt § 9ot Uae g R wfag af=w
AC) FEE S (D) e forator @eamar mam?
(E) a@ﬁﬁanﬁ ' o frafafaa fawedt § & gaffas suges 3ot o4
_ \O _ | (A) A Ai=T
38  Which 10; the i"ol:l;;vlni It{rees :; not found in the _B) Rirsf 7
tropi ) ? F -
C{:]plca th{)rn Or'{.') s of Rajasthan - ©)
oose the mos opriate answer from the
. . appropria D) i
options given be&w: -
(E) STuiauH

(A) Bamboo ¢~ (B) - Rohira

(C) Khejn OO (D) Bair _ . |
. _ 41  Stainless steel is made by mixing iron with
(E) Question attempted |

NI PN W gu X SR a. Carbon | b. Nickel and chromium
e e A - | + Magnesiu;m: d. Manganese *
Bt ﬁﬁﬁmwwﬂ% Choose the most appropriate answer from the

%) w (B) e options given below: ~

| ©) T o O 3 (A) a,b an;d ::i only (B) a,bandconly

E (E) aﬂﬁﬁﬂm ; C) b,c andd only (D) a,candd only

: Q0 ' (E)  Question not attempted

39 Name the fort b& by Maharaj Surajmal in 1733- R =i ﬁ AR # e =t e smmr sirar
Choose the mogtjappropriate answer from the & ] o
options given beldW: a. e b, e i it
(A) Gagron fcﬁ? (B) Jalore fort e Ay d. A .

|  (© Lohgarhfort (D) Churufor 1 for e feredlt 3 @ wartfires Swaes ser .

i (E) Question fiot attempted (A) Faera, baild " L
1733 & HETS I g ffifr feper o T @ ) v Safici
frfafead & watftr Jugm S ) Fmarb, ¢ 3t d

miEfFED  (B)  STER fore
- e frdm ED; % fora D) Fata, ¢ shed
N < (E)  Irqaf wx
(E) wgﬂﬁau&

9
DEF - B14 | 8 [ Contq._
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42  When vinegar 1s added to baking soda a gas is

liberated which when passed through lime water
makes 1t milky. The gas is:

Choose the most appropriate answer from the

options given below:

(A) Nitrogen (B) Hydrogen

(C) (D) Carbon dioxide
(E) - Question not attempted

St ST \vet ¥ R fremr s £ @ o

ﬁmﬁ%@raﬁ%mﬁmﬁwﬁwm
T R At 81 3 g R

ﬁwmaﬁwfrﬁaaffamammgﬁ
B (B) TSI

(C) A=dllsT ,.(«B)’aﬂé'—r@rsaﬂm
(E) A7aiaws

‘Oxygen

Ten

43  In which of the following areas of Rajasthan tﬁe

desert soil is not found?

Choose the most appropriate answer from the
options given below:

(A) Kota (B) Churu

(C) Nagaur D) J odhpur

(E) Question not attem pted |
Wﬁ%ﬁrﬁ%{ﬁaﬁrﬁﬁﬁq é‘arfrqm'eﬂzrqar
& qrft STt 292
ﬁw%ﬁaﬁmﬁﬂnﬁ%mwaﬁ
b B) =¥

() =miR (D) “uER

(E) Sqaf@uy ~

@ Which one of the following wild life sanctuaries
1S not located in Rajasthan?

46

Choose the most appropriate answer from the
options given below:

(A)

Ram Sagar (B)
(©)

) Ramgarh Vishdhari
Bhensroadgarh (D)

Bhimgarh, .

(E) Question not attempted _

ﬁmg?rﬁga H ®H-a1 g STHARYY Trree 3

e '7.

Frfefaa et & & waifaes ITI IR
AT TR (B) g fauyrg

©) Wty ) Miug -

(E) Syaf@wy |

DEF - B14 ) 3

45 Which of the following statemens IS not

€0
about the climate of Rajasthan? N
Choose the iiost appropriate ansye, fron \
options gwen below:

(A) The western desert receives ﬂllﬂlmuml

ralnfall with annual average of 25 cm. !

!
(B) The -average rainfall js not  high m[

Rajasthan because it is located ; in ﬂk'

interior part.

(©)

The extension of Aravallj range is
perpendicular to monsoon winds,

~ (D) In winter little amount of rainfall is
| received through mavath.
“(E) - Question not attempted
ﬁwl%r%aﬂﬁq-mwmmﬁwm
o | T 27
ﬁw%fl‘@ﬁﬁmi}ﬁnaﬁmmm

(A) ﬁwﬁmﬁwﬁmaﬁmmﬁm

e St 25 Afr )
B) TSR # 3ftgq gui wﬁmaﬁ%ﬂﬁﬂ
- 3iafe Wi Ry "
AC)  aeh sigey FT faear qregH @i s |
ddad g E
(D) ¥t =g ¥ W & it a5ty @ ot d
(E)

AT Wy | "'1'

Which of the following is not an alloy?

49

i |
Choose the mosy appropriate answer from th ]
options given below:

(A)

T il o,

:
Stainless stee] (B) Mercury |
Brass

() (D) Bronze
(E)  Question not attempted

ﬁw%ff@ai‘rﬁaﬂq-mﬁmngqﬁ?-? 1
m@ﬁﬁmﬁﬂﬁmﬁi}mww#

- DEF
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17 Which of the following non metg] IS a conductor

50
of electricity?

Choose the most appropriate answer
options given below:

(A) Iodine
(C)  Graphite

spectacles fitted w

Choose the most appropriate answer from the
options given beloW:s , .-
(A) Convexo-Céiidave | >
(B) Concave 1{'-:1:1?3i |

(C) Convex 1ens®

(D) Bifocal lens

(E)  Question no empted |

% T A A i e & R e e S

(A) A % ‘
(B) aqaaaﬁq%
—C) IaaTEF

(D) fewd T
(E) rgaf@wx g

49 Which dialect of tﬁ%JRajasthan is spoken in the S2
region of Churu? 3.
Choose the most wmprfare answer from the
options given below
(A) Hadoti <O (B) Wagadi
(C) Malawi (D) Shekhawati
(E)  Question nojaftempted
TSTRUT o <& &1 Jh -8 sireft syeft st 27
(A) wedt (N B) g
© wlt  \Oupy e
(E) Ifqafiaux Q

DEF. g4 & © 11

“Rane Jagpat ra Marasya” was written to mourn
the death of-

Choose the most appropriate answer from the
options given below:

(A) Rao IndLa)Singh

(B) MaharagayKumbha

(C) Maharah@Jagat Singh

(D) Sant Na%&ev Ji

(E) Questiowot attempted

T STTYd T AT s g o7 viteh Wehe e 36
fere forar mamey

ﬁw&ﬁgdﬁwﬁﬁﬁwﬁ&mmméﬁz

. - A & 5
48 To remove farmgf%;iness defect of eye we use o il ey, .
& '

C) wewwn Sela g (D)  dd amg

EE) TR
- O

“Jeen Mata”s~fthe eight armed goddess is
considered the mcarnation of which Goddess?

Choose the m%.?t appropriate answer from the
options given below:

(A) Saraswa:;_i)j .~ (B) Durga

(©) Lakshrrm v (D)  Gayatri
(E) Questiﬁmot attempted
mﬁéa“rf‘eﬁ@mr*%q%a%mmww

. -
P Ryt o & wrrfres s e o
(A) w&Ed @By~ =
C) e (D) T
(E) orufmby -
- _
‘Teej’ festivalot Rajasthan is Celebrated i
month of - LD I 3 the
~ Choose the » appropri ‘
<t A gﬂw: opriate zlmswer from the
(A) Phalgurf<? (B)  Shravap
(C) * Chaitra (D)  Kartik
Muestm@ot attempted
T D e

& ﬁmmﬁwwg«;
ﬁw%ﬁﬁﬁﬁwﬂmm :
6 TS o
= ;; D)  ifds

| e
[ Contg
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Where is the Kapil Muni fair held on Kartik | S5 To which area of Rajasthan does Shree La] Josh;

» - a Phad artist belong ?
Poornima Choose the most appropriate answer from th
Choose the most appropriate answer from the options given below: ¢
options given below: (A) Bhilwara (B) Jaipur
(A) Rewasain Sikar (©) Jhalaw?far - L e

(E) Question not attempted
(B)  Chaksu in Jaipur TS hefTeh R 2t ETTet STt 3T T TS 3 fyy
(C) Kolayat in Bikaner & q 87
(D) Diggipuri in Tonk Fetefad fawedt 3 & aatfas 3" Wﬁ.}:
(E)  Question not attempted .(;g))’ HTATarS ((.E; 'qﬁiTJ ’
i
it foraT =t et g S wet wmar 2 (E) rqafaya ﬁ
ﬁmﬁﬁ@aﬁw’iﬁﬁwﬂmmm?ﬁ: !
5 S ¥ 56  Keoladev National Park is famous for N
(A) F“?“ ta'“'ww‘_,ﬁ _ - Choose the most appropriate answer from the I'*jl
(B) Gmgtﬁ’ﬁﬁg ol options given below: i
/(‘CT Eﬁﬂ?ﬁ'{ﬂﬂﬁﬁlﬂﬁ -: | (A) Elephant conservation
o pmogs @t | (B) Tiger conservation
D) ZJ&dferfigh |
D) ot LR | (C) Migratory birds - |
(E) TIuRawx - (D) Lion conservation J
- (E) Question not attempted |
AR U ITaT Fiuafey
54  The article of Jewellery called “Borla” ; ~
‘ - ry orla” 1s worn by ﬁn%?@aﬁwﬁﬁ%mﬂﬁrasm\, I -
the Rajasthani women in : (A) - Breft geaqor (B) <far gTeor
Choose the most appropriate answer from the AEY ST T D) fé= (I HTET
options given below: | (E) = e
A N ’ i : | & e o ”
(A) eck P la Chipko” movement in Himalayan region was
(B) Ankle 3 held to resist against .
(C) Wrist Choose the most appropriate answer from the ‘:'-6(]
B options given below: ;i
Head
(D) | . ~ (A)  Road construction in hilly regions _
(E) Question not attempted (B)  Hunting
“TET AT T Elsy T a Yz ) Cutting of trees
T YEHAT SITaT 2] - ((IIE))) gzzzt?;:glmttati?n of ﬁ::lrest resources
not attempte
ﬁw%fiaﬁﬁwfrﬁﬂaﬂbwawgmmaﬁ femrerdt & F “fyger srierem ¥
- ﬁn%%aﬁmﬁﬁﬁaﬁmwm?
(A) =TSt &= o e famfor
! (C) Farg (B)  3mEZ (Rrehr wvm) L
@) fir /Kgq&ﬁaﬁrm@ H
I HHTYAT T 3f Qe

E qd - ‘
(E) rgaid (E) 13ufawy ‘DE]

DEF - B14 | 8 12 [ Contd- ¢
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¢ Name the Hindu Saint, also Worshipped by the

muslims as ““Ramsa Peer”, :1
Choose the most appropriate anSWer from (he I
options given below
(A) Remdevy! (B)  Mehaji Mangia
(C) Devanarayanji (D) Mallinathj;
(E) Ques'tion not attempted | |
crwﬁ%
ﬁﬂﬁfﬁaﬁﬁaﬁ—q‘rﬂﬁaaﬁaa;mmﬂﬁ |
) TR (@) dewh i

(C) <EIREUSY (D) wfecmTsh | 62
(E) IJRa o

59  What is the colour of the ‘Pomcha’ presented to
the mother of a new born daughter? e

Choose the most appropriate answer from the

options given below:’

In which year was the “Mewar Praja Mandal”

established in Udaipur?

Choose the most appropriate answer from the

options given below:

frafafiaa fareai g 9 mrffba‘:mgmmg?r
(A) 1940 (B) 1937
(© 1938 (D) 1939

(E) 'Question not attempted / JATTAIT T4

The integration of the Rajputana into present day

- Rajasthan was completed in how many stages?

Choose the most appropriate answer from the

| options given below:

Wmmmm%mﬁﬁmﬁ
ol A e gaT o

(A) Orange (B) Pink - ﬁﬁ%’ﬁﬁﬁﬁmﬁ'ﬁmmﬁT?
(C) Yellow (D) Lavender /d) 7 (B) 2
(E) Question not attempted €) 3 v(D) 4
| w@ﬁﬁﬁmmwmﬁmw%ﬂ (E) Questiop not attempted/aﬁ__ﬁﬁﬁw
| Frefufed Rt § @ watfe segw Rt | e
(A) AT (B) W | 63  Which famous personality of Rajasthan is also
L"(“G) - g (D) ST (ﬁﬁ?ﬁ) | kﬂown as “Banasur Ka Shaheed?
(E) IR I o1 Choose the most appropriate answer from the

6  To which family of musical instruments does the

"Shahnai’ belong?
Choose the most appropriate answer from the
options given below:
(A) Sushir (B) Dhol
(C) Beat (D) Barrel
(E) Question not attempted
&S STt & o afE & Heifud 87
\r gRm ® |
©) dfe (D) R«
(E) ygaiay4
EF.B14) 8 13

/R) A wrET It (B)

options given below:

(A) Major Somnath Sharma

(B) Major Shaitan Singh

(C) - Lt. Gen. Nathu Singh

(D) Lt Gen. Sagat Singh

(E)  Question not attempted

TSR & forwr it =aferear “SITITTEL T YT
i =T ST 29

Fefefas Ryt § @ watfores UG I G-

ﬁmi‘lﬁmfﬁg
(€) ﬁ'ﬁ??ﬂgﬁg(o) émmﬁ'ﬁ.’
(E)  afawsy

[ Contd...
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i

64  Match List-] witﬁ List-II.

List-1 List-11

a. Non-metalusedin =~ 1. Graphite.
, -
acid, gun-pwder

and medici:ge

N
b. Non-metal tsged I1.

n electrodeg

c. Metal used in?

Mercury

III. Sulphur
electronic i:é’truments
and wires

d. Metal “Edféi |

thennﬂmetero

Choose the mqﬂ, appropriate answer from the

options given Heldw:

(E)  Questiof Dbt attempted / TTwf Wi

DEF - B14 | 8

65

66

LA

Which of the following non-metal reags With

concentrated nitric acid (HNO,)? 6
Choose the most appropriate answer from ﬂJ
r
*
ii

options givemrbelow:
(A) Todirfe=
0O
(B) lf'hqsghprus
(C) Carbdf’ \
-l . i
(D)  Sulphup - 3
(E) Quqsﬁa: not attempted ‘E
Frafafaa ffo d ®F-H IaTg 9% Wi o
(HNO,) & gry ififsrar et 22
ﬁnﬁ{f@aﬁ%m‘fﬁfrmﬁmaﬁﬁw? 68

B) HIERRH
(©) wﬁg
(D) 4T &
B) el

o
Shekhawa’t“lg?fgion 1s part of which of the
following j;}lﬂiographjc division of Rajasthan?
Choose theesmost appropriate answer from the
options givéa:elﬁw: 69
(A)  Eastern plains region
(B)  West€tn desert plains region |
(©) Sen:u%d region -T _-
(D) Aravﬁll] region | |
(E) Ques ‘_o.ln not attempted
ACEE S % frefafaa § 8 f*“

‘Liﬂﬁﬁmﬂmmmﬂ%‘? ‘
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In whicl? 'of the following areas of Rajasthan
black soil is found?

Choose the most apprapnare answer from the
options given below: .

(A) Churu (B) - « Jhalawar

(C) Jaisalmer (D) Bikaner

(E) Question not attempted .
rra@gj & fafaRaa a @ ﬁ?‘er R et a7
STl

ﬁﬁmﬁmﬁﬁﬁwﬁmmgﬁ:-

(A) T¥ B AEETS

(C) SR (D) wfiwRT

(E) TJaia

L In Réjasthan (SEZ) special economic zone for
! handicrafts has been established at:

Choose the most appropriate answer from the
options given below: '

(A) Sitapura °~  (B) Bhiwadi
(C) Bhilwara (D) Boranada
(E)  Question not attempted -

TS | g iey & ford famy anfles & wonfua
IEDIRID S

ﬁw%ﬁaaﬁam‘rﬁﬁwaﬁm’mmaﬁ
AK) AT (B) fraret

C) Higarer = (D) WEwRT

(E) aqaﬁftasrér"—‘ |

69 Who has been awarded the Padma Shri Award
. 2024 from Rajasthan in the field of social work?
Choose the most appropriate answer from the
options given below: |
(A) Mr. Janki Lal
(B)  Ms. Maya Tandon
. (©) Mr. Kumar Manglam Birla
. (D) Mr. Laxman Bhatt Tailang
- (E) Question not attempted
| USRY @ g o & 8 i qrehi, 2024
. T gunfa R mEn |
Frerfafaa Rreredi # & waifie sugw ST
(A) "4t STt ST
®) e
(C) oft o e forgam
(D) sf STeETOT W7 AT

AT WA

70

Match List-I with List-II.

List-I List-II
(Project/festival) (Place)

a. National park I Jaisalmer

b. Desert festival [I. Sambhar Lake
c. Ramsar site [II. Ranthambore
d. Braj Holi IV. Bharatpur
eft-1 o |y =11 %01 firem i
-1 aE-11

@ @)

a. USHFqreh L SEEET

b. S Hfeas 1. Fhre

c. THEL T 1. TR

d. 7 A IV. WEq

Choose the most appropriate answer from the
options given below:

e feg e frredt 7 & waffires 3uges sat=:
(A) a-I,b-TNLc-Ld-IV

‘B) a-Lb-MLc-I,d-IV

%é) a-NMLb-Lc-I,d-IV

71

(D) a-Lb-MU,c-II,d-1IV
(E) Question not attempted / AR T3~

Which of the following cultural/ tourism events
in Rajasthan will appear first in the year (English
Calendar, 2025)? |

Choose the most appropriate answer from the
options given below:

(A) Braj Holi festival

(B) Camel festival

(C) Kite festival |

(D) Baneshwar fair .

(E)  Question not attempted

TSR H e 2025 (aﬁvﬁ%ﬁm%mﬁqﬁ
q H TR N AT I/ T Rk 5y
G
M&aﬁwﬁﬁﬁmﬁw%mﬂﬁ:
(A) T wEIEd (B) 2 Sy

ACT T HElad (D) STOET

(E) orgafaws

[ Contd._
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72  Which of the following techniques is suitable for | 74 Which of the following are the ex

the disposal of bio-medical waste? communicable diseases?

Choose the most appropriate answer from the a Chi?lfen. pox
options given below: b. CQII;CFE'I o
(A) Gncineration | C. Tuberau[@s

L?’euse | d. Diabgtesg
(& \(lgmdf'll | €. ° Cholera \D

Choose the mn@ appropriate answer from the

options given bélgw:

(D) ‘Disposal in running water

(E) (Question not attempted

A S Wy N g SN (A) bandd o&ljr (B) a,dandeonly
3£ ?%W . EE; zbalfd c%lly (D) a,cande only
;3 : tion 110t attempted
ﬁﬁ%%ﬁ_ fawreal § / gaifdes Iggw AT aa: - o
C L Frfafaa & @ 63-8 o 37 F T
(A) \softeor . >
®) ¥ | b. FW O
L e L. c. WfdH (geFTRI)
) FEATEREfwen R -
(E) S&aiayy ' ] | " %T:T @,ﬁ%
00
N _ ﬁﬁqﬂlﬁ%ﬁﬁnﬁﬁmmﬁ
73 Su-epﬂﬁycin, tetracycline and erythromycin are (A) W b 3T (B) wadda,d3iRe
the exqﬁr;ples of- (©) A a, b§1‘ cx EB?—': A a, C ARe
| ‘ Choofe~the most appropriate answer from the (B) SIgaiawy
’ s options given below: | @ o | Q
(A) Bicteria (B) Antibodies Df::Ide . 1’7275{) LA T ——
3,4 ‘
(9 g’]tibintics (D) Preservatives e a-nd 5@&1‘3 respecn}rely may be eque.
| the rate of lntergﬂbeing 5% per annum at simple
(E) estion not attempted triberaar “Tiis seéc% St
13
| ;EQ N My E ?17273%?ﬂ?ﬂ‘ﬁﬁﬁ3¥rmmﬁq%5%mﬁ$
% Freafeifiéa & sarec & | | ATURIT SATS 2T GO A 3, 4 qur 5 a9 I I
:. ﬁnﬁ%aﬁaﬁiﬁﬁnaffh?ﬂaﬂgmmaﬁ: ¥t s 8 e s
(A) T 600 g Q :AM"Q huo +arm ’
(B) T690 0 ‘L" o
(C) T 552 % 5.3_0
22}’ 2575 pmy
(E) QllﬁStiGﬂ@t atten'lpted / Q]Wﬂ’ﬂ
(A . I Contd.-
27 S T Y
6% o ks ‘)(

| ' E ]
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On simple interest certain sum of money amounts | 79

to X 18,130 1n 6 years and to ¥ 20,090 ip & years.

@\

Find the rate of interest.

mmmwmsaﬁz 18,130 Bt sireht
RAATIUHT 20 0903’raﬁﬁ%lmﬁaﬁrma?tl

(B 6%
C) 1% {}“
(E) Question not attempted‘/.h Y |
. i |
177 Mendel performed hybridizat{on experiments on
13 plants. &S
| Choose the most appropriate-answer from the
options given below: Q0
(A) Onion E:;
(B) Tomato -
(C) Rose o
(D) Garden pea | -
(E) Question not attemptedo
S Hehur qlreqor ok Ot o) e o
Freferfian freredt i & atfid Jugw st
Y Sl
(B) X -
(€) T -
—Dy eI (7 " 80
(E) aRa ux
o .
78 Whll.‘.h of the following sﬂ heterozygous
alleles?
| Choose the most approprmt%nswer from the
options gl'ven below: 1
(A) Both TT and tt (B) ﬁ
3 ©) | (D)' Tt
(E)  Question not attempted
Pl & ¥ P gt R
L o) B et g
3% ﬁqﬁ—lﬁaﬂﬁm”iﬁ'&mﬁbft}qgmaﬂtﬁﬁ
) (A) TT3RudA (B) ‘ﬁ
. © FomR®
B a9
j) DEF (B)l4 Tiaﬂaw 3%‘;‘\‘ OJ": 2 2
| 14‘-11" Goo ! 1
52-5 Ly 24 25" I
%%—_?ﬁi S L >

AR St
& . . " ¥ s
Tk i ¢ \‘;

i

Match List-I with List-II.

w 2
List-I1 | 00

List-I
a. Phenotype [. Genetic constitution
b. Gene II. Extemal appearance
c.. Genotype I1I. él_gt expressed in F1
(@eneration
d. Recessive IV. @Jctor that controls a
character cﬁ’aracter w
w1 3 w1 PRy R~ 82
geft-1 GEHr-11 % §o0
a. TAHUYET I. :m?rﬁm?m 18
b, A . ‘e st
c. S &Y I11. Egjqﬁaﬁﬁaﬁmwﬁ éﬁ |
10615/ 8
Cd. AYET AT IV. ﬁﬁa?‘r%a"r
' L ﬁﬁaﬁamﬂ%

Choose the most appropriate answer from the
options given below:

e feu T forened © 9 waitg® Iuge S A
(A) a-Lb-II,c-II,d=1V -
a-1I,b-1IV,c-1

: :EJS

(C) a-Lb-HIc-1I
(D) a-IV,b-II,c-1Ld} I
(E)

Question not attemptéd / 3‘!1?&?[ )
-

The Bhakra Nangal Project is a joint venture of
which of the following grw of states?

Choose the most appropg'gte answer from the
options given below: Qo

(A) Punjab, Rajasthan, Ottar Pradesh
Haryana, Punjab, RSJ _Lhan
Haryana, Himachal Pradesh, Punjab

Rajasthan, HaryanagsYttar Pradesh
Question not attempted

[ Contq,__
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82

. Which one of the following water dam projectsis | 83

81
not associated with Rajasthan?

Choose the most appropriate answer from the

options given below: |

(A) Panchna dam project - |
(B) Sidhmukh dam project
(C) Jakham dam project

- (D) Matatila dam project

Question not attempted

(E)
ﬁﬂri%ifhﬁﬁﬁﬁmma?—rmtrﬁtﬁwmw

TSTEAT | &1 27 .
ﬁm%lﬁaﬁaﬁﬁﬁaaﬁmmgmwgﬁ:
(A) 9i=AT i 9RgSET

s By T sty afEismEr

(C) STEH Y9 IREFSHET
D) - m'amwmtrﬁu‘tw
(E) garaws

Pichola lake is located at which place in

Rajasthan?
(A) Bikaner
(B) Kota sl
(C) Udaipur
(D) Jaipur
(E) Question not attempted
foate e s & forg v @ Ryg 29
(A) SR '
18

Match List-I with List-II.
List-I List-II
(Farm animals (Caused by)

disease)

a. Anthrax I. Protozoa

b. Cowpox [I. Hypocal¢emia

c. Coccidiosis III. Bacteria’f

d. Milk fever IV. Virus i’

-1 o |1 g=h- Haﬂfﬁaﬁfﬁiﬁm

-1 qet-11

(Ié?ﬁ%waﬁ%@n (FTR)

a. TS . TSR

b. Trftaar II. eTsqihcHaT
GAEZICE)

c. HfAfE 1L Sy @

d. e fiax IV. fasmy (@r)
(=T S

Choose the most appropriate answer from the

options given below: .

| ﬁ%ﬁqwﬁmﬁﬁmﬁbﬁmmwﬁ
,,(A)”’ O,b-Lc-IV,d-TI

a-IL,b-Ml,c-IV,d-1I

(C) a-INLb-IV,c-1,d-11
(D) a-Lb-M,c-ML,d-IV
(E)  Question not attempted / 31Fafa 9

Approximate age of sexual maturity of buffalo
bull is

Choose the most appropriate answer from the

options given below:

(A) 20 months (B) 22 months

(C) 18 months (D) 15 months

(E) Question not attempted

e A A afwwmar fir ewEltE TG
gt R

et faredt & & watfare sagem 3@ ki

(A) 207mE ~AB) 229®

(C) 18Hm® (D) 1S5HE

(E) 1gafawy
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. Which of the following ;<
= S 15 Mot a component of
bm-gaS?

Choose the most appropriate answer from
options given below:
(A) | Oxygen (O,) &
(B) CH, (Methane) é,.)
(C) Carbon dioxide (COZ) 0
(D) Hydrogen Sulphide (st(j\l
(E) Question not attempted )
P 3 & - .o St v B
Frerferfian farredt 3 & wartfirm g s
AXY AT (0,)
(B) HRM(CH,) -
(©) Wm(coz)g
(D) EISHISH THIES (H,S) (g
(E) IFFORA W= G
| v
86 Which of the following Pashu Melas are
conducted in Jhalrapatan g:f:} Jhalawar in
Rajasthan? " B
Shn Baldeva Pashu Melg

a.

b.  Gomti Sagar Pashu Melay}
c. - Shri Ramdev Pashu Mel4™{
d.
e.

the

Shri Chandrabhaga Pashﬁ’le]a
Shri Veer Tejaji Pashu 1\45},3
Choose the most appropriate (diswer from the
options given below:
(A) aandconly (B) a,bandeonly
(C) c,dandeonly (D) b %d d only

(E) Quesﬁon not attempted ¢yY

ST 3 STeTaTe ¥ SeraTe Sifretetad § 8

Hﬁqﬁqﬂmﬁ@rmﬁiﬁa%&‘sﬁ;&%‘!
a. o Serea gy A ;,
b. WEAEIRUYHAT ¢y

€. ﬁaﬁtaﬁ'ﬁﬁqﬂm g b
Y R o et & @ waffira@y g ST
(A) Fadasic (B) Fada ballle
(C) mc,daﬂte/(m“ b 3R d
(E) rfaftawH o=y

DEF . B14 & -

87

88

89

The percentage of total solids in cow milk is
approximately :
T4 o g9 § Grqof 31 T Fferar .
R 2| - :
Choose the most appropriate~answer from the
options given below: 0
mﬁwﬁﬁﬁwﬁ%ﬁmwgﬁ:
_AKY 18.5% (B) 8.6%

(C) 5.8% (D) 13'.2%

(E) Question not attempte@ﬂ?ﬁlﬂﬁ 94 |

().

-
‘Operation Flood’ is related tE:J

Choose the most appropriate answer from the
N

oil (B) :‘L{ii’lk

(C) fish (D) syater

(E) Question not attempted.?
‘AT FAS’ Hefod o

fFrefafad faeedt § & gaffa®suges sac a4
(A) ddH

options given below:

(A)

A shopkeeper allows successjve discounts of
15% and 10% on every item. He allowed an
additional discount to his ﬁ'i%i. His friend paid
| < 2,907 for an item marked f&i" 4'1,000. Find the

percentage of additional disgunt given to the
friend. | AN e

@Wmaﬁmlsvﬁm 10%%}3#?;3;
W%%lmﬁﬁﬁﬁﬁ@aﬁﬁmq{ﬁ‘
HIFT T 2 4,000 1 TG D fore 3w fiyy 3
X 2,907 T I6® O o A ¢ sy

T
RIGMEIGEAIS LY = - EE
(A) 4% - "
B) 7% g (o )]
©) 6% 0O A b
—~B) 5% | - o —
Y oy
(E)  Question I}E'tbauempteg%ng 2907
g . AYP
% - 290 290 m\‘Sd“-
\5D) v gt F
VMR priaks
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Who is the capltain of thel 4" Hockey Indja Junior §

National Championship 2024 for ‘Hockey

0% and 40% of 94
the first Men’s

Raj asthan’ team?

j. _
e second number? jate answer from the

nmmﬁber Dfr.ﬁ-gﬂth daT it A 30% T 40% @I Choose the most approprt
qﬁ.ﬁﬁ mmmﬁﬁﬁﬁmﬂ%? I options given below: _Ia‘
(A) Meena Mohit
XY T5%
| 30 %9 o K lkant |
(B) 40% . (B) ama
(C) 350% %%‘M 53 | (C) Gurjar Sachin Singh
(D) 70% | (D) Himanshu Kumar Meena
(E) Question not attempted / a:lﬂ?lftﬂ B ‘ (E) Question not attempted :
# 176 T8¢ 14ammaﬁmaﬁ%ﬁmﬁﬁ 20249 'e»'l'cﬁ 1
91 Three bells ring .at intervals of 9 minutes, 12 il 2 %0 ,
minutes and 15 minutes respectively. If they start (STET - o
ringing tngether at the same time, after how much EISINICE ferehed] aaiter 3“3_“5 3
time will they next ring together?, . | (A) HiT Hifed
(A) 3 hours (B) 1 hour 50 min (B HHASR
(C) 2hours (D) 2 hours 30 min (C) TRl fE
(E) Question not attempted . (D) mw:ﬂvn %
i wifeat s 9 e, 12ﬁqzam15&r—|z% E) waRa s -
ST W it 81 fE T T A O & T W | N
ST I8 T & at 3Tel IR fohas 'wa & - ‘
}ﬂ; e e . i QEF 95 In which game did Annu Rani win the gold medal
- I B) 172150 fre | in the Asian Games 2023?
C) 2% (D) 2% 30fme . ' Choose the most appropriate answer from the
L (E) 3TaRE I : | options given below:
| (A) Shooting
92  Three numbers are in the ratio 3 : 4 : 6 and their - (B)  Wrestling
HCF is 9. The LCM of the number is: * (C) . Javelin Throw
;ﬁ? H'@. a3 4:6 % 312‘113 ﬂ'%WE’FIEFTHCF 9 (D): Discus Throw
39 =13 : "
(:\) 324 T (E)  Question not attempted
. B 216 v
-3~ ot ksl B
- 9T 9 ST
(E)  Question not attempted / 3wt sy e
| | e fasedt & @ waffayes segw s T
93  The HCF of 13.5, 0.9 and 12 is: A) Famesh
13.5, 0.9 99T 12 %1 HCF (Y&vH @G da) &: (B) It
(A) 5.4 A8 0.3 (C) v ¥
= 1ee @) 3 Dy fewwm i ,
(E)  Question not attémpted / ?ﬂﬁﬂﬁ ey (E) rqafta wy ! DE
DEF - B14 | 8 &
20 . [ Cﬂntd.il
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06 In Rajasthan under the: "Mllkhyam antri | 98
Ayushman Durghatna Bima Yojana”, the amount
paid by the government, in case of death of more
than one family member in an accident is
Choose the most appropriate answer from {he
options given below:

(A) < 20Lac ' il
(B) <SLac
(C) X 10Lac
(D) Y25 Lac B
(E) Question not attempted
TS Tt ST qeen st A, ¥ |
S fordt aiEaR & T | aﬁmmﬁﬁ%mﬁ
7o T ST WA fohaHT 82
frefafiad faehedt § @ waifars Jugw I T
(A) R209
(B) IS5dm@
AC) R109@
(D) z25@rE 9
(E) Safa@ws
97  According to Rajasthan budget 2024-25 8™ |

February 2024) which of the following amount

bond is proposed to be given to girls through
‘Lado Protsahan Yojna?’
Choose the most appropriate answer from the

options given below:

,___.__.-.___._.. _
3 ‘F‘.
’

.l:.-r_-.-rll-l-_ll

OBCs the

expenditure is shared between Center and state in

In Pre-Matric scholarship for

the ratio of:
Choose the most appropriate answer from the
options given below:

100% state sponsored scheme

(A)

(B) 70:30

(C) 50:50

(D) 100% centre sponsored scheme
(E) Question not attempted

I fuser at & o Afg wd omafa 4 =39 &
TAUTA w5 I ST TR o o1 2:
frafefad faeredl § @ gaffares Iugw I A

/em’ 100% TSI € T&=dT ITd

(B) 70:30

(C) 50:50 |

(D) 100% %% ¥ H&r—dT YTH
(E) A7Faiaa%

If the average of the nuxﬁbefs KK +7)7.9. 12,
15 and (2K + 1) is 9, then what is the value of
(K2 +1)?
FfHETE K, (K+7), 7, 9, 12, 15 T4 (2K + 1) 31
3N 9 B, A (K2 + 1) T HIF 4T &2
(A) 26 B) 5
ey 10 (D) 17

(E) Question not attempted / ITTAN Wy

An item was sold at a profit of 15%. If its cost had

100
TSTET g5ie 2024-25 (8 F&EH 2024) ¥ AR been 5% less and it had been sold for X 258 Jess.
TS TIaTed EﬁGFIT § afererrel @ fr d | the profit would have been 12%. Find the cost
ﬁﬁﬁ-ﬁma‘fﬂgaﬂmﬁ?{%‘? | price of the item.
Frfera foreredt & Waffores guges 3ot 9 T a5 15%mqrémnmmﬁmmw
| (A) % 2,00,000 5% T BT AUTIE T 258 RAAIE R IR —
; (B) 50,000 itk absiunh S
(C) 1,00,000 (A)  T2,940 (B) 3200
D) €1.50,000 (€) 73,120 —DT % 3,000
' (E) Question not attempted / siefed ¥4 () Question not attempted / Sryefiey way
|| DEF. 14 B B g s [ Contg..,
L gp—
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101 Which fort in Rajasthan was called the armoured | 104 . Name the folk deity of Rajasthan known as t

-,

fort (Bakhtarband Durg) by Abul Fajal? God of camels-

Choose the most appropriate answer from the Choose the most appropriate answer from t
options given below: ﬁptiﬂns given below: |

(A) Taragarh (B) Kumbhalgarh (A) Mallinathji.  (B) Gogaji

(C) Nahargarh (D) Ranthambore (C)‘ Tejaji | (D) Pabuji

(E)  Qgstion not attempted
AT FHADT Tt 7 Ry forg forer st sred i

(E) lrQuest:n:::tn not attempted

méﬁlﬁqmwmﬁ%ﬁm%mal

Jehcdl § ¥ Wi Iug 3Ot 94 2 X |
| i > Prerfaftaa Rrecai § aaiferes Iugw T =
(A) . (B) I - N I
- S (A) ‘Hfcearys (B)  TIITTSHY
(E) .3@'&6‘3[&‘ ry e - (©) £ -tDTA ‘TI'IEISﬂ'
| (E) mqﬂﬁﬂ I '

102  What arg-Bateliya, Bichhiyo and Lalar? = L : i il :
A Lﬂ!ﬁ most appropriate answer from the |, Whlc[é“%eme of Rajasthani literature is just li
options gi¥en below: [ e . e » tellmg{ ?Qd lxstenmg to a story?

(8) FEM musicsl mstrument- - | Chouse Jhe most appropriate answer from t
(B) 'Fé}& dances | o ﬂptlonga:gwen below: _
(C) F songs _ dip _ (A) #Vigat (B) Jhamal
(D) Folk drama . ' (©) ti"imt (D) Parchi

Question not attempted | (E) Questlon not attem

| pted

q%%mﬁ%ﬁaﬂramw%‘? mﬁ.wﬁw%%ﬁﬁmﬁwﬁﬁaﬁaﬂw
ﬁw%ﬁ%@%mﬁ@maﬁ%ﬁ JYGH I T B

(A) SHITIA  (B) ol T >
Sy D) Fﬁmm ﬁmﬁﬁmﬁmmmﬁﬁ
(A) Uma (B) wHA

(E) 3@'“' i | ' qr=ii
i * : : m)
103 In ZOIOﬂhmh famous folk dance of Rajasthan (B) ?gqﬁltﬂ B I
- L

was inqluded by UNESCO in its intangible

Cultural heritage 1ist?

- 106 Which dialect of in
Choose the most appropriate answer from the ‘region of K i Rajasthan i Bari
options EiVen below: . . {«E o3, Bundi, Jhalawar and
(A) K'apl:Bellya Dance IS - region? Lt | tt
(B) A#t) Dance . ChOﬂiﬁi§hE most appropriate answer from
©) Dance options:given below:
(D) Tgrgh Taali Dance (A) Malawi (B) Mewati
(E) ﬁ%tiﬂn not attempted (©) Thudhzm - (D) Hadoti
2010 ¥ @ % forg wfe o T F e (E) t?‘uestlon not attempted

(WSCO)%WWW@&W ‘ W%m@mmmmﬁﬁﬁ

22 =g [ Contd-
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107 Which of the following 1s not the breed of buffalo: | 110 According to ‘Rising Rajasthan 2024°, Rajasthans

rank in installed wind power capacity is:
Choose the most appropriate answer from the

Choose the most appropriate answer from the
options given below:

(A) Murrah (B) Mehsana options given below:
(C) Beetal (D) Toda . (A 4t @) 2
(E) © Question not attempted - (c} o~ (D) IS
SefafRga g aR-dt o9 "ﬁW T %? (E) | Question not attempted
ﬁﬁmﬁmﬁﬁmﬁmmmﬂa TERIT e il i . =l W
() T B) 3 TUTI &T9aT o $FH o TSI T T e-

i Bt ;. fraferfad fyeedt % & gaffars Iuges STT:
(E) ITaRa A ; (C) qd= (D) 99d

, (E) Iaiayd
108 Which of the following is the correct temperature |

for cryopreservation of semen in liquid nitrogen? 111 Who among the following players of team
‘Hockey Rajasthan’ made the only goal in the

14h Hockey India Junior Men’s National
Championship 2024 against ‘Hockey Haryana’?
Choose the most appropriate answer from the

Choose the most appropriate answer from the

options given below:

aﬁﬁaﬁmqﬁ@a?ﬁﬁmmqﬁ{waﬁ%ﬁﬂ

R AHH T2 options given below:
ﬁﬂ%ﬁﬂﬁﬁq’fﬁﬁmﬁﬁmm‘ﬁ (A) Sahil Ruhal  (B) . Sunil Mann
(A) -86°C By -19°C (C) Anurag Suthar (D) Amit Khasa
(C) -196°C (D) -296°C (E) Question not attempted
(E) Question not attempted / AR I | gt g & fefafad F & e ﬁaa-rg’r u
e e 143 qev Ty e S AREAfTT-2024 F <Fiehy
| ! 109 A transmissible viral ldisease ‘Ranikhet* is a ﬁqﬁ@iﬁﬁﬁmﬁ;;;ﬁ I ﬂ};
j common disease of: (A) arfeet v (B) Tﬂﬁm
i Choose the most appropriate answer from the (C) IFTEAR - () fta@mEr
I options given below: | - | (E) aﬂ'ﬂﬁa';m
(A) Sheep ., | . / |
(B) Goat . - 112 Which of the following is a physical change?
(C) Poultry | Choose the most appropriate answer ﬁ'{}m the
| (D) Cow options given below: |
' (E) Question not attempted E;; E;i;in;:;:zm
qa;mﬁ‘&ﬁﬂﬂﬁ'ﬁﬁﬁﬂ T et (C) Crystallisation
AT R? (D) Bursting of crackers
frafafaa ferercdl € Wi Gﬂgﬁaﬂ?@ (E) Question not attempted
/(x)" g &l frerffae § @ P MR dhada dy
qH FT frafefaa fReeal & | waifaes IYT I T
(c) Fape Dl | (A) WEHEIET  (B) SR s ey .
D) T 1 _«€) freefidr (D) TR Stem
®) ogar@ws ' i, g

DEF-B14] @ A oy [ Conta...
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113 Which of the following fruits and vegetables @ The total number of students in a schoo] was 75()
change their colour, when after cutting, they are

As a result of new admissions in the school, the £
kept open for some time?

number of boys increased by 11% and the Numbey

a. Apple - b. Tomato

o votato © d. Brinjal | students in the SCPB'OI became 846, then what i
e. Carrot Q0

the number of girfsshow?

of girls increased by 20%. If the total number of

Choose the maog{yappropriate answer from the

options given betolv: i ﬁﬁn?rq . @Tﬁﬁ!ﬁ " 3 H@T e I:
(A) a,candddnly (B) a,bandconly 'a' SINE ﬁmalf@%qﬁﬂnﬂ' 'Wtratr;m' TR T T |
(C) b,canddonly (D) C,d and e only ﬁll%ﬁm?@ﬁﬂﬁmﬁzoyﬂ@g'
(E) Questiongidt attempted . gie faenmer o faefRfay 6 A HEAT 846 =1 ER |
Frrferfiea 3 4 $R-Y wor S Aot F12) ¥ w12 Hs%ﬁﬁaﬁm@w%?
TS T % IR @5 T W e T F ufiada wv MO 168 - 6 9
SCA N Ve’ | ~ o0 ' 20

‘ ol . (B) 150 N N /
C. W O d. %‘Fl‘ | : I .t (D) 192 ‘__' J{g
c. TSI . . | . w [
1 R Fararelibit & wrarfores suges s (B)  Question netpttempted / Jrafea ¥

P THRT o, oA (B) Faea, b 3o .

mb, & d (Qi ¥aeTc. d 3 e 117 The LCM of two %mbers 1S 14 times their HCF

(‘E) ﬂﬂﬁﬁm | and the sum of LEM and HCF is 600. If one of
g the number is 28K Yhen the other number is:

114 When a numberdgincreased by 47']5- 7o of itself,
1t becomes 590. The number is:

< HEATS Y ot LCM (S9aw woaadeh) 9% HCE
(HETH FHTvEdR) @it 14 T § qur LOM (@90

TR @E A 475 % T A T 590 6 qHEdE) 31 HOP (e wmmaden) 7 3 600
W%“"@“'g ' %l"ﬁgﬁﬁﬁﬁwzso%ﬁr@ﬂa‘w%z
W) 470 Q0 /(Aﬂ‘ 80 Q (B) 320
(B) 350 N | -
| ©) .140 (D) 120
©or 400 O - o
| 4 (E)  Question nQhdttempted / IATART TH
(E)  Question{idt attempted / 3¥afta wy =1
i, 118 If the average of Sgqyumbers is 12 and the average
115 If (150% of k) T3~ 540, then the value of k is: of five of these nmbers_ ‘is 15, then what is the
i (k T 150%)YD3 = 540, 9 k FT 9 B average of the remaining numbers? |
_y 1080 AR 8 TS 1 A 12 & e 5ot & i A
(B) 360 g T I 15%,?ﬁ§¥i@mﬁﬂaﬂﬂﬁ‘nm%‘?
(C) 540  yuq (A) - 1.5 N B) 6
(D) 920 g (C) 65 \:}/(DY -
(E)  Question fiot attempted / ¥afta j[a; (E)  Question negattempted / STARE ¥4
DEF - B14 ] 6 Koot » = 5454 - [ Contd.
Tt 4 90
. - O
W=
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‘ "’“‘-.L‘ Pt wr t~‘1u L
\'b g I\ .6 19, 36 yUP 1y 4 )/‘\1 2
7, A5 S5 L% I
119 1€ av CI"’IEC age Of Boys in a group of students is n l”'t.-”

122 Vast natural pasture i ins. i
' s on the h
“twice the number of=gdirls in the group and (he i PSR

/ average age of the whdle group of 50 students is
19.2 years. If the r;&i? of number of boys and
girls in the group 1s 4.1, then what is the average

Garhwal region above 12;900 feet are called: |
Choose the most apprt?;)mre answer from the

options given below: o Q
age of girlsi(in ycarq')?[‘_ ‘ (A)  Evergreen grasslddd - ))
50 faranflal & v W@l gt i sl s w2 DY () Bugyal = a
AastF R FEn RAT T REER AT |7 o phaba & 1Ty
1 19.2 7t B a2 g & ek S e A1 [, (o | C’ /N~
H@Tﬁw PRE ?ﬁaﬂ'ﬂﬁmﬁﬁ 19 (D) Terai grassland 3@‘, ;’EG il
) =T %} O 5 (E)  Question not attempted *
(A). 17 ,Oﬂf) 16 4 TGaTe & |, 12 ooowﬁwﬁw-ﬁaﬂﬁmﬁnm 3
© 18 \f) 15 ot ty s ST T e e d
(E) Question not a@npted / 343__‘?1'&3‘ BE ﬁﬂ%@ﬁﬁﬂﬁﬁﬁﬁ%%ﬂﬁ y S
120 Udder secretion 1mr(1?edlately after calving 1{ \l ) W%w 3:“-!’6 (3
known as @d 1s rich 1n X /GB)' - 2 O "Q}.’L 9 Y
Choose the most apprppriate answer from the (€) ¥ 5 . o c
options given below:00 | (D) e °TE F Harre 4 ‘(;21 5
(A) Calf starter, Ig@{B) Colostrum, Ig A k 76 ]

(C) Firstmlk, Ig éDD) Special milk, IgM

(E) - Question not a@npted

W%W%m@mﬁi uﬁﬁﬁmﬁm 123 Which of the following‘djftﬁcts of Rajasthan had [o

| FedrdT & 3K 98 -@rm ‘the highest populationSgrowth rate during the
‘1 . é’IﬁT%I - | ' decade of 2001-2011?
ﬁmmﬁ% mmzﬁ Choose the most appr@riate answer from the
‘66 Ak) N T, Ig &1B) PICTTeEH, IgA options given below: O Ty
(C) TaHTY, IgE D) fafregy, igM (A) Taipur B O vy 9_&_& X
(E) aﬂaﬁaw et | ' o 20 N #sf
121 Which of the folléWing is not the pastoral (C) Barmer /it W88 G
community of the Himalayas? -~ (D) Kota Yoo !0 e __é;;\‘\' ﬁ
Choose the most appgopriate answer from the (E) Question not attempted IP
iptious givn BRGNS 2001-2011 % < ¥ REFRTEA § ¥ oy & S -
(A) Dhangar OQ(B) Bhootiya , Mﬁﬁﬁm@mq%maﬁv 0 &
(C) Kinnauri ~ C\D)  Sherpa 22 4y
(E) Question not &&mpted Fferia feree Ei" ﬁ”aa; Wﬁ'{ﬂﬁ- 3.2
ﬁn%ﬁaaaﬁaa:@%mwmwmww (4) AR - 3
e 27 9 . (B) <y r N
frefafiaa fasedl 3§ § aaifies gogw sa0 G AC) wrEir @ o D
_A) TR (B)  fear (D) @ Yo 1o - Q
) fe=m (D) iy - e
(B) SRR SA Sk _—_
DEF-B14] & 57 ) 23 8 25 2 J Y 89 [ Congg, 1o
s —i o 6
15 e 12 3 .._}—ax? t?ﬁ

415 | Al aud
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124 Which of the following districts of Rajasthan had | 126 Diffused reflection is caused by:

the highest percentage of urban population in Choose the most appropriate answer from th

their total population in the census of 20117 options given below:

(A) Concave lens

Choose the most appropriate answer from the
(B) . Irregular surface of the reflector

options given below: (C)  Plane mirror
(A)  Udaipur - | (D) Bright and smooth surface
(B) Jaipur ‘ (E) Qqqs_tion not attempted
(C) Kota terafea (arfrafir) gwrad 3o o grar 2
(D) Bikaner . Fefaftaa forredt # @ waffies soge sma |
(E)  Question not attempted 0 e |
e L
_ _ ABY~ tEds @t sfrafaa gag
2011 Y SHFOAT § Torew & Prafefaa da e | (C) T gdor
ﬁé‘ﬁmﬂmﬁ@nwuﬁaﬁm%‘i@m‘ " (D) =udreft R et Tae
T i g . (E) Igaiaws |
F=feiRaa fawedl & @ waffas sgas 3@ T L e is mostly used as side mirror of
A) T - = -+ vehicles.
Choose the most appropriate answer from the
AB) AR options given below:
(C) = | (A) Concave lens (B) Concave mirror
(l;)) EiCac ey * (C) Convex mirror (D) Plane mirror
(E) Wﬂaﬁﬂ | ' (E)  Question not attempted
- : T YT A fehaT a1t & ardf 2qus
_ ‘ w9 ¥ fohaT StTar 2 |
125 Which of the following stat ts is i = -
. | g statemen 15. incorrect . ﬁﬂﬁ’lﬁﬂﬂﬁﬁﬁﬁ 2 Fﬁﬁ?ﬂﬁaﬁ'{ﬁ% |
about the image formed by a convex mirror? (A) IEaad" (B) a;aaaat&rr
Choose the most appropriate answer from the ~AE€) I oy (D) qHda 9T
options given below: | (E) gaf@ws
(A) Itis smaller than the object. | ,
;,. (B) Itis virtual and upright. . IY:? .;S Kmown as the father of nuclear scicnce
. 1a
C) Itis formed behind the mi

(C) Ts ormed behind the ml.rrnr. | Choose the most appropriate answer from ¢

(D) Itis formed on the same side of the object. options given below:

(E) Question not attempted | (A) Dr. Har Govind Khurana (Khorana)

I VT & ERT 944 a1 Wafeiar & e o fpsrfirfae (B) J.C.Bose

4 ¥ F9-81 97 7Td 27 h (C) Rishi Charak

d o d 3 | (E)  Question not attempted
: fagm (i
(B) z}axmaﬂt*éﬁms’mél & T ¥ ST ST 29 -
@ AgdnH S Y Fraferfaer e & & wrartfives uge XL
A) <. Y= a4
(D) & aEqgarel WPt & € aar @ (A) = guAY(B) . ® o

(C) ==w D)y SLEH
(E) rgaRa w4 (B) 3rafa wy

DEF - B14 | 8 26 [ Contd
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3\ Ak

boe)
120 Which of the following endocrine glands is | 131 A flap like elastic cartilage whiq%cts as a switch

between the esophagus and trach€h is:
™

Choose the most appropriate apswer from the

known as the master gland of the body?

Choose the most ﬂppmpl‘rare EiHS‘i(CI‘ from the

o T "rlt
options given below: LA

(A) ~ Thymus gland (B) ° ‘Adfénal gland options given below: i
(C) Pituitary gland (D) Th}’ﬂ)ld gland (A) Bronchus g
(E) Question not attempted | (B) Pharynx
ﬁﬂ%mﬁ%ﬁ-mmmﬂﬁiﬁtﬁ CHTEST I .
3 . ;‘“" (D) Epiglotti g
ﬁﬂ%ﬁﬁﬁwﬁﬁﬁwﬂmwmzﬁ ) Fapa =
(A) Wuﬁr V“i (E) Question not attempted Ol
®) g gEe W T T (Te), I e Tt @A S
PORE Tt I e (et e Y gy 5ot fer
(D) RS o fivfFdadd . O
i e ” e Rt & waifires suge s
s . ' o ' O
130 Which of the following coﬁditioni’;ﬁ}e correct for (A) W o
donating the blood by a male or fgﬁ}ale‘? (B) e/t ?‘3
a. The weight of a person must I{e gbove 45 kg. (C) AfEa/ss R
b. The person should not suffer frorp any Serious ‘| /(]3?’ wdfireifen ghE
2 disease. ' CRP | E) : — g
l . c. Hemoglobin level in their ﬁrn"od must be -
between 8 to 12. s | o
d. The person has not donated b’i-o}od since last | 132 Haemoglobin is present in e
two years . E’;ﬂ | Choose the most appropriate ﬁwer from the
Choose the miost appropriate ariswer from the options given below: O
options given below: :ﬁ (A) Both white and red Bhoows ol TR
A)" EaS oply il éﬂﬁ P (B)- White blood cells, ¢ . g
(C) b,canddonly (D) candd only . |
(E) Question not attempted (C) Redbloodce _
fopeft ey STl ¥ % T T J: & fag (D) Platelets g
ﬁmﬁf@ﬁ Ay EI'?H -t Reufaat Gﬁ’%‘? (E) Question not attempted Q0
2. 3G STEH T A 45 kgﬁuﬁm{‘g‘jmaﬁ'll ST QT ST 8- S
b, st ferelt T A & e g <) o e & T g S
c. ﬁmﬁmmwsﬁz%aﬁm - aﬁ%aaﬂtmﬁﬁﬁﬁ%ﬁﬁ
=ifeu) -y
d. mwﬁﬁﬁﬁﬂﬁﬁaﬁﬁmqﬁﬁmﬁl (B) AT T RN .
ﬁmmﬁﬁﬁﬁﬁwmmﬁﬁl | _AC) mﬁmﬁ
(A) aﬁﬁaﬁb/@# FaeTa, b3 c (D) q@mﬂ(@m)ﬁ'
() Fasb,c3Md Q) Faecsfrd ©) smaT
(B) IR ,

DEF - B14 | 8

Scanne d with CamScanner



:1sthani player who has not play,

133 Select the correct statements from the following : | 1335 Identify the Raj
4. Cancer is caused by uncontrolled cell division. cricket in Indian Cricket tea:m.
b. Hepatitis-A is caused by bacteria. Choose the most appropriate answer from ty,
c. Haemophilia is a genetic disordér. options given below:
d. Leprosy is a viral disease. (A) Aanant] i_t Singh Naruka
Choose the most aﬁprapriaw answer from the (B) | Gég’an Kishanlal Khoda
options given below:+ | (®) ‘Hanumant Singh
(A) a,bandconly (B) aandc only (D) Parthasarathy HaI'lShCZandra Sharma
(C) bandconly (D) a and d only (E) Question not attempte
(E) Question not attempted Tﬁmﬂwﬁf@ et forehe 2m g
Pt & & el vt 1 g i Qe 2:-
o ST SRRt SRR e & T T ﬁmﬁrﬁaﬁﬁwﬁﬁﬁmﬁﬂ?mmaﬁ
b. fitersRE-A SfaTopi & ST g & (A) Fasd f6E TehT
c. ErrhiferET wE a i e Rl (B) T RRIAETE WIST
d. 8T () T ey = AR () wIHafEE
ﬁ%ﬁqwﬁﬁﬁﬁﬁwaﬁbﬁww@ (D) ureFaTceft BfeeTerE I
_(AY” Facia, b3 c (B) - Fadda 3 c (B) SaRa¥¥
(C) FaAb3Rc Fad a 37 d | |
(E) Iaia ¥ 136 Nutrionally egg is a rich source of:
- a. Proteins
134 is reddish brown, bean shaped b. Iron and phosphorus
structure present in lower abdominal cavity of C. Unsaturated fatty acids
human beings. d. . Carbohydrates
Choose the most appropriate answer from the e.  Vitamin E
options given below: ' Choose the most appropriate answer from the
(A) Thyroid gland options given below: _ )
(B) Kjdﬂ&y' ~(A) c,dandeonly (B) aanddonly
(C) Liver g (). bandeonly ' (D) a,band coaly
(D) Gall bladder (E)  Question not attempted
(E) Question not attempted qieor Fr g s il
GTEAT & S ATl <t 3T TeT o feret s # g R T S G
frefafaa fawedt § 4 @aita® I9gw a9 4. etz
(A) gy e. fofmEe
_AB) T 1 RO P & rarfives Juges 3
R T 0, d iy ¢ Ry 3t a AT
(D) fimm (i =) 6\ FTbsike (p) Faea b
(E) ﬂzﬁﬁﬁ a4 (E) mu‘ﬂ ;
DEF - B14 | 6 28 [ Confd
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o

(37 which of the following is not a protein present in @ A sum of T 23,450 is divided among A, B, C and

mil'k? EEabLL b
Choose the most appr opriate answer from the

options given below: .- .,

D such that they received the money in the ratio

of A:B=2:3,B:C=5:6andC:D*= 3:4.

How much money did D receive?

(A) Lactose (B). . Caselln | ' .

(C) Lactalbumin (D) Lactaglobulm 7 23.450 #1 TRT A, B, C T D & 39 Yo At

(E) Question not attempted | 11? £F 3 9w yaiEt it Wﬁf A:B=2:3,

R ﬁﬁﬂq—mwﬁwmﬁm@m B:C=5:67uTC:D =3:4 & Dl fohedr &7

T8 87 e A B1eLD

frefafae fasedl & § gaifaes I9g® It e avg & %

(A) @y = (A) T 8,150 (B) 8,500 g 0 4 E{
200 L3,

(C) AFTH A (D) éaznrvﬁal%ﬂ N : Fsﬁ_/ 120 (D) %8, D

(E) K i (E) Questmn not attempted/ailqﬂﬁ?f 710! | q

23450_~*
= h

138 \ The common test to check adulteration of ghee

ith animal fat 1s:
Choose the most appropriate answer from the

options given below:

m? T
(A) Nitric acid test R e V2
(B) Carbolic acid test "'"'ﬁ‘) l:::
(C) Baudouin test j"“
(D) Halphenstest ns
(E). Question not attempted '

ﬁﬁﬁwﬁﬁwﬁmw?ﬁﬁq@

AT GO @ -

fFrafafad ﬁm‘r R Haffba?m?ﬁ 3?11:%1'3'[

A goldsmith has gold of 14 carat purity and 18

carat purity. In What ratio should he mix the two

to make an ornament of 15 carat purity?
@w%w 1437{2{13613‘217 18 e &ar A
a1 2115 mmwmm%mwﬁ

139

By 512

4:3 (D) 5:4

Question not attempted / aagrjrfta a4

' M 168
15"

 ALP

29

‘“
v
A

141 ‘Digilocker’ 1S a government cloud basedih@

st B
platform provlded application for: T
. Choose -the most appropriate answer from the%i “’;J
-.__—-._‘_—__/-"’

» options given below:

(A) Storing election related data in a digital
3. form
(B) 'Stonng cashin a dlgltal form
(C) Storing important documents in a digital
form
(D) Storing precious metals in a digital form
.(E) Question not attempted

EEH R: |

frefafaa fasreal & @ AAITE® ITGH ST A

(A) T waht st W Rfvest w9 wuda
A & for’d

(B) Tt i fefSied ®9 7 dudia 1 & i’y

A€ et Terst W R w1 F widg

T o ford
(D) st urgadt =t feforeer w0 & wmdg sy
fow '
(E) oyfaiaws
I":(S:‘l [ Contd
56— 258
A2 — 129
3
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142 The upper limit of Joan amount proposed in the
first phase(Bf ‘Gopal Credit Card Scheme’ for
one year isg
Choose the\pnost appraprrare answer from the
options gns& below:

TMT ﬁ?ﬁﬁlﬂﬁf ASET F gUH T ¥ wEarfad
0T TfRT S T v a3 R 2
- Prafafad fedt § & waifire sugw swogt
(A) T2,50,000 (329
/ﬁB)" 4 50@0 |
(C) T 75(DQ0 Lalbahio)
(D) tl,oﬁoo"‘ SRR
(E) Questidn not attempiedr/ Sﬂ?lﬂﬂ Er%'
- )

143 The first p&se of “Gopal Credii:HCard Scheme™
proposed fom 25" September 2024 to 8“’
October 2% 1S to target reachmg hO\?!V many
Gopalak favhillies?

Choose thgpesr apﬁro}rriate .ﬂI-IS‘i.;.i.’EI" ﬁ'em the
| eptiene gi@belew: -y
(A) 11 l%
(B) 3laed
] 9 lag .
(D) 91adO
(E) Que:s?ipn not atterppted _
ATt SHEETE ASAT T T =0 7Y 25 Ry
- 2024 9 8 AT 2024 Tk T 8, T 18 Fopery
Tﬁmamwf%rﬁqgaﬁ?ﬁ%v
ﬁqﬁlﬁ@'ﬂ?ﬁmﬁﬁﬁﬁﬁ&mm‘gﬁmaﬁ
11 @
®) 37fg
(C) S5STD
(D) 9d@
(E) 3Tt s
DEF -

144

145

Who 1s the minister of technical ed : -y
Rajastl;;;l)] (1n September 2024)? N
Choosélthe most appropriate answer from
0pt10n%:f;wen below:

(A)
(B)
(C)
(D)
(E) Qlestion not attempted

rm%’%a?ﬁ:ﬁzﬁﬁmﬂﬂ(ﬁﬂmzomﬁ)ﬂq

Smt. Diya Kumari

Shti Kirodi Lal

@ri Madan Dilawar
Dr. Pr_em Chand Bairwa

77

ﬁmﬁrﬁﬁrﬁwﬁﬁﬁmﬁ%mmaﬁ
) Hiet fem

(B) Wm

ey ft gea feamax

(D) &P I SET
E) - %ﬁf@rw
N |
Aceercl_’i_@F to report by Forbes India published in
September 2024, In Indian states Rajasthan ranked
£2 _in projected GSDP (FY 2024-25).
Chees%ﬁhe most approprmre answer from the
eptlenmven below:
(A) -
(B)
(€)
(D)
(E)

Questlon not attempted

W@Tﬁﬁw 2024 ¥ warfira faé #

[\Contd-"
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(46 According 1o’ modified’. ‘Budget 202425 of

Rajasthan, how much money, 1s. allocated under ' _
a . i . # l"
“Doctor Shyama Prasad Mukherjee Zila Uithan following physiographic regions of Rajasthan’

149 Chulia a water fall is located in which of the

Yojana™? | Choose the most appropriate answer-from the

Choose the most apprc}prtate answer fmm the

options given below:
~ options given below: !

(A) Aravali region

(A) 900cr - (B)-'3000cr 1" R

(C) 500 cr (D) 700 cr - (B) Western desert plain region

(E) Question not aﬁempteq . (C) Eastern plain region

SL I G ‘ﬁﬁﬁﬁ CE 2024 25 * AR (D) South-eastern plateau region

_“gT WFITE ‘:THHE B r@gw | E i_l i %aﬁﬁ:ﬁ , (E) Questlon not attempted

frefiRan foered & et o gt | ¢ SR S R e & e 4o :
(A) 900 TS /(314-300@31 — . iR & o R @2 _

(C) S00%Ig (D) 700%US . | ﬁmﬁﬁaﬁmﬁﬁaaﬁmwmiﬁ:

(E) AIdid T = . (A) s aE

(B) qfatﬂqmﬁﬁzrﬂaméa

147 Where is the place of origin of Luni river of

Rajasthan? e R P ; (& tljfﬂaﬁll &
Choose the most approprmte .answer, from the D) f&ror-geff wart &
options given below: | . (B) IquRawH

(A) Eastern Satpura range

(B) ' 'Amarkantak | -
(C) - Nagg-Pahar S o 150 Which of the follomng types of forests are not

I

(D) Angsi Glacier .« found in Rajasthan?
(E) .. Question not attempted . .
Wﬁaﬁqﬁ'ﬂmww%‘?

¥

Choose the most appropriate answer from the

' options given below:
ﬁm%ﬁaaﬁmﬁﬁwafm?ﬁmwgﬁ |
f(C')/ FIT‘T %'13 u (D) GT"I'HCT %‘Fﬁ (B) Tropical thorn forest
(E) :ﬂiﬁﬁﬁ qd - (C) Tropical dry deciduous forest
148  Which one of the following hot winds blows 10 - (D) Sub-tropicai montane forest
Rajasthan? | | (E) 6uestidn not attempted-
" "Choose the most appropriate answer from the P i R YR 3 S O § 1 ‘IT&ET%
options given below: - = .
(A) Ssirocco . . ,(B) Khamsin. © |
(C) Loo - (D) Chinook | mﬁwe{ﬁmﬁmmaﬁ
(E) Questlﬂn not attempted /(k)" ST a9
ﬁq“m‘?ﬁ':‘;ﬁaﬁﬁ T @) e Frerferfiad 9 (B) 3w FRR AT
%ﬁﬁﬁﬁmmm@: (C) Swrehfsiti Ik qoiaTelt a
(A) e B) @ (D) ST W o
A |9 D) fag= (E) oqaiaws
(E) maﬂ‘ﬂ'(f bk
DEFI\_ '‘B14 3 31 [ Contd...
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